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First Semester 3 Year LL.B. /V Semester 5 Year B.A.LL.B. (Maj.-Min.
System) /B.A.LL.B./B.B.A.LL.B./B.Com.LL.B/IV Semester 5 Year B.A.LL.B./
B.B.A.LL.B. Examination, March/April 2021
CONTRACT -1

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining
questions.
2. Q. No..9 carries 20 marks and the remaining questions
carry 16 marks each.
3. Answers should be written either in English or
Kannada only.

Q. No. 1. Define Proposal. Explain the circumstances under which it

lapses. Marks : 16
BRRTODTY 9,809,280 BT 0IRT ROTPFNYY, TTRMTT
QTORD.

Q. No. 2. Discuss the legal effects of minor’s agreement. Marks : 16

CIR,T B30 LTOTT FITATIT TWOFWOINTIY, A0,

Q. No. 3. Define consent. Explain the circumstances under which
consent is said to be free. Marks : 16

:ﬁg@»oﬁaa‘% mbas%m :@/am o35veson m§ x@@mmgd
\b:mcﬁa& WDD.

Q. No. 4. Define consideration and explain the essentials of

consideration. Marks : 16
T SPOTI), TR W ‘T EFO'T FLTOINTRY, QT0R.
Q. No. 5. Explain the different modes of discharge of contract. Marks : 16
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Q. No. 6. Explain general and special damages. Marks : 16
BT, BT QIR TOTT FANTRy wWmOA.
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Q. No. 7. By whom and against whom specific performance of contract

can be claimed ? ‘ Marks : 16
CIR0OT T CURT ITWT WIOTE JVFH, JTBeoF
FeP0TOTO ?

Q. No. 8. Write short notes on any two : Marks : 8x2=16

CORFTOTTR @dd% é,awwsé W3O :
(a) Invitation to offer

[R[IN BT
(b) E-contract

Q-TOITD

(c) Contracts which cannot be specifically enforced.
QOFH, a’cﬁaﬁe@éw\za’% FEPCONT FTOTONED.

Q. No. 9. Solve any two of the following problems : Marks : 10x2=20

FENT OTRPYTe AT xmﬂémfs& VRN :

(a) ‘A’sold his car worth Rs. 5 lakh for Rs. 50,000 to ‘B’. Can
this sale be questioned ? Discuss.
‘Alodn 2T o zjtﬁo:@g%i LDIeS] ‘B’ 20@30mT Te.
nen =0T, R BINTLDR), @%ﬁw@de 7 2330

(b) ‘A’ promised to marry ‘B’ on the death of his father.
While the father was still alive he married ‘C’. Decide.
‘A Eg BoT3030 WoTEIT NOST ‘B'ob, WOTICTMOY TN
MRS TRTITOT. 33, ZoTdodo wmdsthmende ‘C1odmy
TOTOROINNOITIE. LEFFOUAD.

(c) ‘A’ adealerin fruits leaves a box containing fruits in

‘B’ s house by mistake. ‘B’ consumes those fruits. Can
‘A’ recover the value of the fruits from ‘B’ ? Decide.
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